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1. The major soil groups consist of Tamil Nadu are 

(A) Four   (B) Three 

(C) Two   (D) One   

uªÌ|õk GzuøÚ •UQ¯ ©s ÁøPPøÍ öPõskÒÍx? 

(A) |õßS   (B) ‰ßÖ  

(C) Cμsk   (D) JßÖ 

2. First stage Group in collective farming system 

(A) FPG    

(B) FPO 

(C) FIG    

(D) SFAC   

Tmk £søn¯ vmhzvß •uÀ SÊ 

(A) EÇÁº EØ£zv SÊ    

(B) EÇÁº EØ£zv {ÖÁÚ® 

(C) EÇÁº BºÁ»º SÊ  

(D) ]ÖÂÁ\õ°PÒ ÷ÁÍõsø© öuõÈÀ {ÖÁÚ® 

3. Major Soil Groups (62%) covered in Tamilnadu 

(A) Red soil    

(B) Black cotton soil 

(C) Laterite soil    

(D) Coastal soil   

uªÌ|õmiß AvPÍÄ (62%) EÒÍ ©s ÁøP 

(A) ]Á¨¦ ©s ÁøP    

(B) P›\À ©s ÁøP 

(C) ÷»mhøμm ©s    

(D) PhØPøμ ©nÀ ÁøP 
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4. Which salt used for controlling Parthenium Plant? 

(A) Potassium Chloride   

(B) Calcium Chloride 

(C)  Sodium Chloride   

(D) Calcium Carbonate   

G¢u E¨¦ £õºzwÛ¯® ö\iø¯ AÈUP £¯ß£kzu¨£kQÓx? 

(A) ö£õmhõ]¯® S÷Íõøμk  

(B) PõÀ]¯® S÷Íõøμk  

(C) ÷\õi¯® S÷Íõøμk   

(D) PõÀ]¯® Põº£÷Úm 

5. Which stage is important for irrigation in sugarcane? 

(A) Bud initiation   (B) Bud development 

(C) Tillering   (D) Flowering   

P¸®¦ £°›À G¢u¨ £¸Á® }ºz ÷uøÁ ªP •UQ¯©õÚx? 

(A) £¸ (bud) Bμ®£®  (B) £¸ (Bud)  ÁÍºa] 

(C) yº £¸Á®   (D) §¨£¸Á® 

6. Higher LD50 value of an insecticide means 

(A) More toxic to insect 

(B) More toxic to mammals 

(C) Less toxic to insect 

(D) Less toxic to mammals 

AvP LD50 ©v¨¦ÒÍ §a]UöPõÀ¼ Gß£x 

(A) §a]PÐUS AvP £õv¨¦øh¯x 

(B) £õ¿miPÐUS AvP £õv¨¦øh¯x 

(C) §a]PÐUSU SøÓ¢u £õv¨¦øh¯x 

(D) £õ¿miPÐUSU SøÓ¢u £õv¨¦øh¯x 

7. Seed rate of direct sowing of rainfed rice 

(A) 25 Kg/ha   (B) 50 Kg/ha 

(C) 75 Kg /ha   (D) 100 Kg/ha  

©õÚõÁõ› ÷|μi ö|À Âøu¨¤ß Âøu¯ÍÄ 

(A) 25 Q÷»õ/öí   (B) 50 Q÷»õ/öí 
(C) 75 Q÷»õ/öí   (D) 100 Q÷»õ/öí 
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8. Centrally sponsored Tree Planting Scheme implemented in TN 

(A) NFSM    

(B) NMOOP 

(C) MSDA    

(D) NMSA   

uªÌ|õmiÀ G¢u vmhzvÀ ©zv¯ Aμ_ EuÂ²hß ©μUPßÖPÒ |h¨£kQÓx? 

(A) ÷u]¯ EnÄ £õxPõ¨¦ C¯UP® 

(B) ÷u]¯ Gsön´ Gsön´ £øÚ C¯UP®  

(C) }izu {ø»¯Ú ©õÚõÁõ› ÷©®£õmk vmh® 

(D) ÷u]¯ }izu {ø»¯õÚ ÷ÁÍõsø© C¯UP® 

9. Water soluble fertiliser used in 

(A) Sprinkler Irrigation  (B) Drip Irrigation 

(C) Flood Irrigation   (D) Rain gun Irrigation   

ö£ºi÷P\ß (fertigation) Gß£x 

(A) öuÎ¨¦ £õ\Ú EμªkuÀ (B) ö\õmk }º£õ\Ú EμªkuÀ  

(C) •Ê £õ\Ú® •øÓ  (D) ©øÇz yÄÁõß •øÓ EμªkuÀ  

10. Dead Heart symptoms in Paddy due to    

(A) Stem borer   (B) Aphids 

(C) Thrips   (D) Leaf folder   

‘‘ö|À¼À’’ ‘‘Dead heart’’ AÔSÔ ———————ß £õv¨¦. 

(A) usk xøÍ¨£õß  (B) H¤mì  

(C) z›¨ì   (D) Cø» _¸mk¨ ¦Ê  

11. Cost of DAP foliar spraying in enhancement of pulses productivity in NADP 

(A) Rs. 650/acre   (B) Rs. 520/acre 

(C) Rs. 750/acre   (D) Rs. 1,300/acre   

NADP vmhzvÀ £¯Ö ÁøP EØ£zvø¯ AvP›¨£uØPõP i.H.¤. öuÎ¨¦US›¯ öuõøP  

(A) ¹. 650/HUPº   (B) ¹. 520/HUPº 

(C) ¹. 750/HUPº   (D) ¹. 1300/HUPº 
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12. Alternaria solani is a 

(A) Soil borne disease  (B) Seed borne disease 

(C) Air borne disease  (D) Soil and seed borne disease   

BÀhº÷Ú›¯õ ö\õ»õÛ Gß£x 

(A) ©s ‰»® £μÄ® ÷|õ´ (B) Âøu ‰»® £μÄ® ÷|õ´  

(C) PõØÖ ‰»® £μÄ® ÷|õ´ (D) ©s ©ØÖ® Âøu ‰»® £μÄ® ÷|õ´ 

13. DICOFOL is           
(A) Organophosphorus  (B) Organochlorine  

(C) Carbamates   (D) Dithiocarbamates 

øhU÷Põ£õÀ Gß£x 

(A) BºP÷Úõ£õì£μì  (B) BºP÷ÚõS÷Íõ›ß 

(C) Põº£÷©mì   (D) øhu÷¯õPõº£÷©mì 

14. Which of the following used for Seed Treatment? 

(A) Imidachloprid   (B) Monochrotophos 

(C) Chloripyriphos   (D) Malathion   

RÌPsh Gx Âøu ÷|ºzvUPõP £¯ß£kzu¨£kQÓx? 

(A) CªhõS÷Íõ¤›m  (B) ÷©õ÷ÚõS÷μõmh£õì  

(C) S÷Íõºø£›£õì   (D) ©õ»zv¯õß 

15. Which form used for sending fertiliser sample to Fertiliser Control Lab? 

(A) Form-L   (B) Form-K 

(C) Form-L1   (D) Form-J  

G¢u £iÁ® Eμ ©õv›PøÍ EμU Pmk¨£õk B´ÁPzvØS AÝ¨£ £¯ß£kzu¨£kQÓx? 

(A) £iÁ® -L   (B) £iÁ® -K 

(C) £iÁ® -L1   (D) £iÁ® -J 

16. Which scheme organic farming covered? 

(A) PMKSY   (B) PMFBY 

(C) NMSA   (D) MSDA   

G¢u vmhzvÀ A[PP ÷ÁÍõsø© ö\¯À£kzu¨£kQÓx? 

(A) PMKSY   (B) PMFBY 

(C) NMSA   (D) MSDA   



   105/DM/18 
  [Turn over 

7

17. How many weeks eligible for claiming post harvest losses after harvest in crop insurance 

under PMFBY? 

(A) Four weeks   (B) Three weeks 

(C) Two weeks   (D) Five weeks   

£°º £õxPõ¨¥k vmhzvÀ AÖÁøhUS¤ß GzuøÚ ÁõμzvØSÒ £õv¨¦ HØ£mhõÀ £¯ß 

ö£Ó»õ®? 

(A) |õßS Áõμ[PÒ   (B) ‰ßÖ Áõμ[PÒ  

(C) Cμsk Áõμ[PÒ   (D) I¢x Áõμ[PÒ 

18. The best crop suitable for saline soil 

(A) Millets and cotton  (B) Ragi and sunflower 

(C)  Millets and oil seeds  (D) Sugarcane and oil seed   

E¨¦ ©soØ÷PØÓ ]Ó¢u £°º 

(A) uõÛ¯® ©ØÖ® £¸zv  (B) μõQ ©ØÖ® `›¯ Põ¢v 

(C) uõÛ¯® ©ØÖ® Gsön´ Âzx  (D) P¸®¦ ©ØÖ® Gsön´ Âzx 

19. Tamilnadu Sampa package of paddy scheme implemented in 

(A) Virudhunagar and Tirunelveli  (B) Thanjavur and Tiruvarur  

(C)  Theni and Sivagangai  (D) Sivagangai and Tuticorin   

uªÌ|õmiÀ G[S ‘\®£õ ÷£U÷Pä’ vmh® ö\¯À£kzu¨£kQÓx? 

(A) Â¸x|Pº ©ØÖ® v¸ö|À÷Á¼ (B) ug\õÅº ©ØÖ® v¸Áõ¹º  

(C) ÷uÛ ©ØÖ® ]ÁP[øP  (D) ]ÁP[øP ©ØÖ® yzxUSi  

20. Paddy is cultivated in the month of ——————— for Kar season. 

(A) February to March  (B) May-June 

(C)  June to July   (D) September to October   

ö|À \õS£iUS›¯ Põº £¸Á® 

(A) ¤¨μÁ› & ©õºa   (B) ÷© & áüß 

(C) áüß & áüø»   (D) ö\¨h®£º & AU÷hõ£º 
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21. Jake 9218 is variety of 

(A) Black gram    (B) Green gram 

(C) Cow Pea   (D) Bengal gram   

Jake 9218 μP® Gß£x ——————— £°º. 

(A) EÐ¢x   (B) £õ]¨£¯Ö 

(C) umøh£¯Ö   (D) öPõsøh Phø» 

22. Which crop suitable for improving soil fertility? 

(A) Pulses   (B) Paddy 

(C) Cotton   (D) Groundnut   

©s ÁÍzøu AvP›UP Ti¯ £°º Gx? 

(A) £¯Ö ÁøPPÒ   (B) ö|À 

(C) £¸zv   (D) Phø» 

23. ETL of Pod borer of Black gram 

(A) 5% of affected Pod  (B) 10% of affected Pod 

(C) 15% of affected Pod  (D) 20% of affected Pod   

EÐ¢vÀ Põ´ xøÍ¨£õÝUS›¯ ö£õ¸Íõuõμ ÷\u {ø»  

(A) 5% Põ´ £õv¨¦   (B) 10% Põ´ £õv¨¦  

(C) 15% Põ´ £õv¨¦   (D) 20% Põ´ £õv¨¦ 

24. Ammonical nitrogen content of ammonium sulphate 

(A) 25.0%   (B) 20.6% 

(C)  21.6%   (D) 22.6%   

A®÷©õÛ¯® \À÷£miÀ EÒÍ A®÷©õÛ¯zvÀ ø|mμáß SøÓ¢ux 

(A) 25.0%   (B) 20.6% 

(C)  21.6%   (D) 22.6% 
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25. Tolerance limit of zinc in zinc sulphate fertilizer is 

(A) 0.5 unit   (B) 0.3 unit 

(C) 0.4 unit   (D) 0.2 unit 

][ \À÷£m EμzvÀ EÒÍ ][ AÍÂß hõ»μßì (Tolerance limit) AÍÄ 

(A) 0.5 ³Ûm   (B) 0.3 ³Ûm 

(C) 0.4 ³Ûm   (D) 0.2 ³Ûm 

26. Weight of the complex fertilizers sample to send FCL 

(A) 150 gm   (B) 200 gm 

(C) 300 gm   (D) 400 gm   

B´ÂØS AÝ¨£¨£k® Tmkμzvß AÍÄ 

(A) 150 Qμõ®   (B) 200 Qμõ® 

(C) 300 Qμõ®   (D) 400 Qμõ®    

27. CORH 2 is hybrid of  

(A) Redgram   (B) Ragi 

(C) Paddy   (D) Sorghum   

CORH 2 Á›¯ QμP®  

(A) xÁøμ   (B) μõQ 

(C) ö|À   (D) ÷\õÍ®  

28. Agmark lab working under 

(A) APGM Act 1935   (B) Essential commodity Act 1955 

(C) APGM Act 1936   (D) APGM Act 1937   

Guß RÌ AU©õºU B´ÁP® ö\¯À£kQÓx? 

(A) APGM Act 1935   (B) Essential commodity Act 1955 

(C) APGM Act 1936   (D) APGM Act 1937   
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29. Organo phosphorus pesticide is 

(A) Dicofol   (B) Phosphomidon  

(C) Carbendazim   (D) Carbaryl  

BºP÷Úõ £õì£μì §a] ©¸¢x 

(A) øh÷P£õÀ   (B) £õì÷£õªhõß 

(C) Põº£ßh]®   (D) Põº£›À 

30. Seed rate of Sorghum is    

(A) 5-10 Kg/ha   (B) 10-15 Kg/ha 

(C) 15-20 Kg/ha   (D) 20-25 Kg/ha   

÷\õÍzvß Âøu¯ÍÄ 

(A) 5-10 Q÷»õ/öí   (B) 10-15 Q÷»õ/öí 

(C) 15-20 Q÷»õ/öí  (D) 20-25 Q÷»õ/öí 

31. Central Sugarcane Breeding Institute situated at 

(A) Killikulam    (B) Cuddalore 

(C) Madurai   (D) Coimbatore   

©zv¯ C¸®¦ Bμõ´a] {ø»¯® G[SÒÍx? 

(A) QÒÎSÍ®   (B) Ph¿º  

(C) ©xøμ   (D) ÷Põ¯•zyº 

32. Cross pollinated crop 

(A) Paddy   (B) Groundnut 

(C) Ragi   (D) Cumbu 

A¯À ©Pμ¢u ÷\ºUøP £°º 

(A) ö|À   (B) Phø» 

(C) μõQ   (D) P®¦ 
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33. Field inspection date for Sorghum Seed farm 

(A) 40, 55 and 70th days    

(B) 45, 70 and 90th days 

(C) 45, 70 and 95th days    

(D) 40, 65 and 75th days   

÷\õÍ® Âøu¨ £søn°ß Á¯»õ´Ä |õmPÒ 

(A) 40, 55 ©ØÖ® 70Áx |õÒ  

(B) 45, 70 ©ØÖ® 90Áx |õÒ 

(C) 45, 70 ©ØÖ® 95Áx |õÒ  

(D) 40, 65 ©ØÖ®75Áx |õÒ 

34. One cubic feet water is equal to 

(A) 28.3 litre    (B) 27.3 litre  

(C) 26.3 litre   (D) 25.3 litre   

J¸ PÚ Ai }º ——————— ¼mhºUS \©® 

(A) 28.3 ¼mhº    (B) 27.3 ¼mhº 

(C) 26.3 ¼mhº   (D) 25.3 ¼mhº 

35. SMR of maize hybrid 

(A) 1 : 100   (B) 1 : 80 

(C) 1 : 50   (D) 1 : 150   

Ã›¯ ©UPõa÷\õÍzvß Âøu ©õØÖ ÂQu® 

(A) 1 : 100   (B) 1 : 80 

(C) 1 : 50   (D) 1 : 150  

36. Progeny of foundation seed is 

(A) Foundation seed I  (B) Certified seed  

(C)  Breeder seed    (D) Foundation seed II  

Buõμ Âøu°ß £μ®£øμ  

(A) Buõμ Âøu I   (B) \õßÖ Âøu 

(C) ÁÀ¾|º Âøu   (D) Buõμ Âøu II   
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37. Imazethapyr is        

(A) Pesticide   (B) Nematicide 

(C) Weedicide   (D) Agaricide   

C©õ]zuø£¯º (Imazethapyr) Gß£x 

(A) §a] ©¸¢x   (B) ö|©miø\m  

(C) PøÍUöPõÀ¼   (D) APõ›ø\m  

38. Minimum Germination of Paddy Seed 

(A) 95%   (B) 80% 

(C) 85%   (D) 98%   

ö|À Âøu°ß •øÚ¨¦z vÓß SøÓ¢ux 

(A) 95%   (B) 80% 

(C) 85%   (D) 98%  

39. Premium amount of farmers for sum insured for Kharif paddy I under PMFBY 

(A) 2.0%   (B) 0.5% 

(C) 1.5%   (D) 1.0%   

£°º Põ¨¥mk vmhzvÀ ÂÁ\õ°PÐUS Põ¨¥mkz öuõøP°À PõŸ¨ ö|À I&US GÆÁÍÄ 

¤›ª¯® öuõøP 

(A) 2.0%   (B) 0.5% 

(C) 1.5%   (D) 1.0%  

40. SRR of Groundnut is 

(A) 5   (B) 10 

(C) 8   (D) 6   

Phø»°ß Âøu ©õØÖ ÂQu® 

(A) 5   (B) 10 

(C) 8   (D) 6  

41. Seed multiplication ratio of Cotton is         

(A) 1 : 10   (B) 1 : 30 

(C) 1 : 50   (D) 1 : 40   

£¸zv°ß Âøu ö£¸US ÂQu® 

(A) 1 : 10   (B) 1 : 30 

(C) 1 : 50   (D) 1 : 40  
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42. Maximum lot size of green gram in tagging of certified seeds 

(A) 200 quintals    (B) 300 quintals 

(C) 400 quintals    (D) 100 quintals   

\õßÓmøh ö£õ¸zx® ö£õÊx £õ]¨ £¯Ö \õßÖ Âøu°ß AvP£m\ SÂ¯À AÍÄ  

(A) 200 SÂshõÀ    (B) 300 SÂshõÀ 

(C) 400 SÂshõÀ   (D) 100 SÂshõÀ 

43. Minimum weight of submitted sample of Cow pea to send seed testing lab 

(A) 1000 gm    (B) 900 gm  

(C) 800 gm    (D) 700 gm   

Âøu £›÷\õuøÚ {ø»¯zvØS AÝ¨£¨£k® umøh £¯Ö Âøu°ß AÍÄ SøÓ¢ux 

(A) 1000 Qμõ®    (B) 900 Qμõ® 

(C) 800 Qμõ®   (D) 700 Qμõ®  

44. pH of saline soil 

(A) < 8.5   (B) >8.5  

(C) >7.5   (D) <7.5  

E¨¦ ©soß pH 

(A) < 8.5   (B) >8.5  

(C) >7.5   (D) <7.5 

45. Number of bags to be selected for fertiliser sampling in lot size of 201-400 bags 

(A) 6   (B) 5 

(C) 4   (D) 3   

201&400 ‰møhPÒ (bags) EÒÍ EμU SÂ¯¼À GzuøÚ ‰møhPÒ Eμ©õv›PÐUPõP GkUP 

÷Ásk®? 

(A) 6   (B) 5 

(C) 4   (D) 3 
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46. Which scheme for distribution PVC Pipeline? 

(A) MSDA   (B) NFSM 

(C) NADP   (D) NMOOP 

G¢u vmhzvß RÌ PVC&ø£¨ø»ß ÁÇ[P¨£kQÓx? 

(A) MSDA   (B) NFSM 

(C) NADP   (D) NMOOP   

47. How many single budded chips used in SSI of sugarcane? 

(A) 20000   (B) 15000 

(C) 10000   (D) 5000   

SSI & P¸®¤À GzuøÚ J¸ £¸ ]¨ì £¯ß£kzu¨£kQÓx? 

(A) 20000   (B) 15000 

(C) 10000   (D) 5000  

48. Spacing of sugarcane in SSI of sugarcane 

(A) 5  2 Feet      (B) 5  3 Feet 

(C) 5  4 Feet      (D) 4  2 Feet   

SSI & P¸®¤À £°º CøhöÁÎ 

(A) 5  2 Ai      (B) 5  3 Ai 

(C) 5  4 Ai      (D) 4  2 Ai   

49. Total area cultivated under all food and nonfood crops are 

(A) Net area sown   (B) Gross sown area 

(C) Crop intensity   (D) Gross cropped area   

uõÛ¯® ©ØÖ® uõÛ¯ªÀ»õu £°ºPÎß ö©õzu \õS£i £μ¨¦ Gß£x 

(A) {Pμ Âøu¨¦ £μ¨¦  (B) ö©õzu Âøu¨¦ £μ¨¦ 

(C) £°º Ahºzv   (D) ö©õzu £°º £μ¨¦ 
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50. Production incentives for production of cotton foundation seeds under TNCCM schemes 

(A) Rs. 5,000 / Qtl    (B) Rs. 4,000 / Qtl 

(C) Rs. 3,000 / Qtl    (D) Rs. 6,000 / Qtl   

TNCCM vmhzvÀ Buõμ £¸zv Âøu EØ£zv ©õÛ¯® 

(A) ¹. 5,000 / SÂshõÀ  (B) ¹. 4,000 / SÂshõÀ 

(C) ¹. 3,000 / SÂshõÀ  (D) ¹. 6,000 / SÂshõÀ   

51. Seedling age of sugarcane in SSI 

(A) 25-35 days   (B)  20-25 days 

(C) 30-35 days    (D)  20-30 days   

SSI & P¸®¦ |õØÔß Á¯x  

(A) 25-35 |õÒ   (B)  20-25 |õÒ 

(C) 30-35 |õÒ    (D)  20-30 |õÒ 

52. Nitrogen fixing bio fertiliser in groundnut 

(A) Azospillum   (B) Azotobactor 

(C)  Rhizobium   (D) Mychorhiza   

Phø»°À ø|mμáøÚ {ø» {Özx® E°º Eμ®  

(A) A÷\õìø£›À»®  (B) A÷\õm÷hõ÷£Uhº  

(C) øμ÷\õ¤¯®   (D) ø©U÷Põøμ\õ 

53. Promoting bund cropping with ——————— pulse in all agricultural crops. 

(A) Green gram   (B) Horse gram 

(C) Bengal gram   (D) Red gram   

÷ÁÍõs £°ºPÎÀ Áμ®¦ Kμ[PÎÀ ÁÍº¨£uØS FUP¨£kzx® £¯Ö 

(A) £õ]¨ £¯Ö   (B) öPõÒÐ £¯Ö 

(C) _shÀ £¯Ö    (D) xÁøμ £¯Ö 
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54. Mono Ammonium Phosphate (12:61:0) is 

(A) Complex Fertiliser   (B) Mixture Fertiliser 

(C) Water Soluble Fertiliser  (D) Straight Fertiliser   

÷©õ÷Úõ A®÷©õÛ¯® £õì÷£m (12:61:0) Gß£x 

(A) Tmk Eμ®   (B) P»¨¦ Eμ® 

(C) }›À Pøμ²® Eμ®  (D) ÷|μi Eμ® 

55. The genetic purity of certified seed should be minimum 

(A) 100%   (B) 99% 

(C) 98%   (D) 95%   

\õßÖ Âøu°ß ©μ¦z y´ø© SøÓ¢ux 

(A) 100%   (B) 99% 

(C) 98%   (D) 95%  

56. The tag colour of foundation seed is 

(A) Azure blue   (B) White 

(C) Blue   (D) Green  

Buõμ Âøu°ß \õßÓmøh {Ó® 

(A) A`º ¦Ñ   (B) öÁÒøÍ  

(C) ¦Ñ   (D) £aø\  

57. The physical purity of Groundnut foundation seed should be 

(A) 95%   (B) 96% 

(C) 98%   (D) 99%   

Phø» Buõμ Âøu°ß _zuz ußø© 

(A) 95%   (B) 96% 

(C) 98%   (D) 99%  
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58. What is the SRR for Red Gram? 

(A) 5   (B) 7  

(C) 6.1   (D) 8  

xÁøμ Âøu°ß ©õØÖ ÂQu® 

(A) 5   (B) 7  

(C) 6.1   (D) 8 

59. Moisture content of paddy certified seeds 

(A) 13%   (B) 14% 

(C) 9%   (D) 10%   

ö|À \õßÖ Âøu°ß Dμ¨£u® 

(A) 13%   (B) 14% 

(C) 9%   (D) 10%  

60. Replacement variety of BPT 5204 paddy 

(A) ADT 49   (B) ADT 50 

(C) TKM 13   (D) CO 51   

ö|À¼À BPT 5204&US ©õØÖ CμP® 

(A) Him 49   (B) Him 50 

(C) i÷PG® 13   (D) ÷Põ 51 

61. Rice follow cotton varieties are 

(A) SVPR 2   (B) MCU 5 

(C) SVPR 4   (D) MCU 7   

ö|À¾US ¤ß £°›h¨£k® £¸zv CμP® 

(A) GìÂ¤Bº 2   (B) G®]² 5 

(C) GìÂ¤Bº 4   (D) G®]² 7 
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62. Which chemicals used for seed hardening? 

(A) Sodium Chloride   (B) Potassium Chloride 

(C) Calcium Chloride   (D) Magnesium Chloride   

Âøu PiÚ¨£kzxÁuØS £¯ß£kzu¨£k® Cμ\õ¯Ú® Gx? 

(A) ÷\õi¯® S÷Íõøμk  (B) ö£õmhõ]¯® S÷Íõøμk  

(C) PõÀ]¯® S÷Íõøμk  (D) ö©UÜ]¯® S÷Íõøμk 

63. CO5 is hybrid of 

(A) Sorghum    (B) Cumbu  

(C) Maize    (D) Cotton   

CO5 Gß£x ——————— £°›ß Ã›¯ CμP®. 

(A) ÷\õÍ®   (B) P®¦ 

(C) ©UPõa ÷\õÍ®   (D) £¸zv 

64. TPS 5 is notified variety of       

(A) Cumbu   (B) Sorghun 

(C) Paddy   (D) Cotton   

TPS 5 Gß£x ——————— £°›ß AÔÂUP¨£mh CμP®. 

(A) P®¦   (B) ÷\õÍ®  

(C) ö|À   (D) £¸zv 

65. Objectional weed sp in paddy seed farm  

(A) Sunflower   (B) Orabanche 

(C) Wild Rice   (D) Cyprus   

ö|À Âøu¨ £søn°ß Bm÷\£øÚUS›¯ PøÍ  

(A) `›¯Põ¢v   (B) Jμ£ß]  

(C) Põmk ö|À   (D) ÷Põøμ  

66. Blanket Recommendation (N:P:K:S) of Rainfed Cowpea 

(A) 15:25:15:10 Kg/ha  (B) 20:30:20:10 Kg/ha 

(C) 12.5:25:12.5:10 Kg/ha  (D) 15:30:15:10 Kg/ha   

©õÚÁõ› Pmøh £°›ß ö£õxÁõÚ Eμ¨£›¢xøμ (N:P:K:S) 

(A) 15:25:15:10 Q÷»õ/öí (B) 20:30:20:10 Q÷»õ/öí 

(C) 12.5:25:12.5:10 Q÷»õ/öí (D) 15:30:15:10 Q÷»õ/öí  
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67. Which District representing in first mentioned letter B in seed certification number? 

(A) Madurai   (B) Coimbatore 

(C) Erode   (D) Salem   

\õßÖ Âøu GsoÀ •u¼À SÔ¨¤h¨£k® GÊzx ‘‘B’’ G¢u ©õÁmhzøu SÔUQÓx? 

(A) ©xøμ   (B) ÷Põ¯•zyº 

(C) D÷μõk   (D) ÷\»® 

68. Who is authority to give permission for C 1 – C 11 Seed? 

(A) DSC    (B) DD SI  

(C)  ADSCN    (D) SCO   

C 1 – C 11 ÂøuUS ¯õº AÝ©v ÁÇ[P ÷Ásk®? 

(A) Âøu \õßÖ C¯USÚº  (B) Âøu B´Ä xøn C¯USÚº  

(C)  Âøu \õßÖ EuÂ C¯USÚº (D) Âøu \õßÖ A¾Á»º 

69. Conversion period of organic farming for annual crops 

(A) One year    (B) Two year 

(C) Three year   (D) Four year   

Kμõsk £°ºPÐUS A[PP ÷ÁÍõsø©US ©õØÖÁuØPõÚ Põ»® 

(A) Kμõsk Põ»®   (B) Cμshõsk Põ»® 

(C) ‰ßÓõsk Põ»®  (D) |õßS Á¸h Põ»®  

70. Cauvery is major source of paddy irrigation in 

(A) Trichy and Thanjavur District (B) Sivagangai and Ramnad District 

(C) Sivagangai and Trichy District (D) Theni and Madurai District   

Põ÷Á› ‰»® •UQ¯ ö|À £õ\Ú® £Sv 

(A) v¸a] ©ØÖ® ug\õÅº ©õÁmh® (B) ]ÁP[øP ©ØÖ® Cμõ©|õu¦μ® ©õÁmh® 

(C) ]ÁP[øP ©ØÖ® v¸a] ©õÁmh® (D) ÷uÛ ©ØÖ® ©xøμ ©õÁmh® 
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71. The irrigation water requirement for Sugarcane crop is 

(A) 1600-1700 mm   (B) 1300-1400 mm 

(C) 2000-2200 mm   (D) 1800-2000 mm   

P¸®¦ £°›ß }ºz ÷uøÁ 

(A) 1600-1700 ª.«.   (B) 1300-1400 ª.«. 

(C) 2000-2200 ª.«.   (D) 1800-2000 ª.«. 

72. CO-8 is the new high yielding variety of 

(A) Green gram    (B) Black gram 

(C)  Cow pea    (D) Red gram   

CO-8 Gß£x AvP ©P`À u¸® CμP® 

(A) £õ]¨£¯Ö   (B) EÐ¢x 

(C) umøh £¯Ö   (D) xÁøμ 

73. Sampling depth of shallow rooted crop is 

(A) 22.5 cm   (B) 15 cm 

(C) 30.0 cm   (D) 20.0 cm   

SøÓ¢u ÷Áº EÒÍ £°ºPÐUS ©s ©õv› GkUS® BÇ® 

(A) 22.5 ö\.«.   (B) 15 ö\.«. 

(C) 30.0 ö\.«.   (D) 20.0 ö\.«. 

74. Shoot borer of Sugarcane caused by 

(A) Chilo infuscatallus  (B) Chilo sacchariphagus 

(C) Scirpophaga excerptalis  (D) Odontotermes obesus   

P¸®¤À usk xøÍ¨£õÝUS›¯ Põμn® 

(A) øP÷»õ Cß£ì÷Pmh»ì (B) øP÷»õ \õUP›÷£Pì 

(C) ]º÷£õ£õPõ GUéº¨hõ¼ì (D) J÷hõß÷hõöhºö©ì K¤\ì 
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75. The main function of chisel plough is 

(A) To break hardpan    

(B) To pulverize the soil 

(C) To turn the soil     

(D) To furrow the soil   

EÎ PÎ¨ø£ (Chisel plough) °ß •UQ¯ £o 

(A) ©s PmiPøÍ CÖUPzøu EøhzuÀ  

(B) ©søn yÍõUSuÀ  

(C) ©søn v¸¨¤ ÂkuÀ  

(D) ©soÀ £ÒÍ® Aø©zuÀ 

76. How many days farmers kept their product in free of cost in Regulated Market? 

(A) 25   (B) 20 

(C) 15   (D)  10   

JÊ[S •øÓ ÂØ£øÚ ThzvÀ GzuøÚ |õmPÐUS ÂÁ\õ°PÒ u[PÐøh¯ ÷ÁÍõs 

EØ£zvø¯ C»Á\©õP øÁUP»õ®? 

(A) 25 |õÒ   (B) 20 |õÒ 

(C) 15 |õÒ   (D) 10 |õÒ    

77. Application of Lime is reclamation for 

(A) Alkali soil   (B) Acid soil 

(C) Sodic soil   (D) Arid soil   

_snõ®¦ CkuÀ G¢u ©soß ^ºv¸zu •øÓ 

(A) Põμ ©s   (B) Aª» ©s 

(C) ÷\õiU ©s   (D) H›m ©s  
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78. Reddening of cotton is deficiency symptoms of 

(A) Calcium    

(B) Magnesium 

(C) Copper    

(D) Potassium   

£¸zv°À ]Á¨¦ (Reddering) Gß£x Guß SøÓ£õk AÔSÔ? 

(A) PõÀ]¯®    

(B) ö©UÜ]¯®  

(C) Põ¨£º    

(D) ö£õmhõ]¯® 

79. How much of area required to make Mat nursery in SRI paddy? 

(A) 100 m2/ha   (B) 50 m2/ha 

(C) 150 m2/ha    (D) 200 m2/ha  

SRI & |hÄ •øÓ°À £õ´ |õØÓõ[PõÀ £μ¨¦ 

(A) 100 «2
/öíUm   (B) 50 «2

/öíUm 

(C) 150 «2
/öíUm   (D) 200 «2

/öíUm  

80. Water requirement of Groundnut 

(A) 500 m - 600 mm    

(B) 350 - 400 mm 

(C) 300 mm - 350mm   

(D) 400 - 500 mm   

Phø» £°›ß }ºz÷uøÁ 

(A) 500 «. - 600 ª.«. 

(B) 350 - 400 ª.«. 

(C) 300  ª.«.- 350 ª.«.   

(D) 400 - 500 ª.«.  

––––––––––––––––––– 
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